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‘Unit 6 Trig Functions Part II Test Review

1) Find an angle that is co-terminal with 852°.
~260° =AY = 300° = N32°
35a-560° 1AL - 300 - [32°]

2) Find the smallest positive co-terminal with 705°.

305 - 3604 " (3«150?

3) Identify the period and amplitude of y = -4 sin (2x).
amphtvee <t
peviod = A =)
4) Identify the period, amplitude and any transformations of y = -1/2 cos (2x) — 4.
pevind = X = T
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5) Without the use of technology, explain why cos 240° = cos 120°. g1
120° is ow ongle nthe 2" Quadravit and 340" 1% an
ovgie N V€ 38 guodrant o ey wold vove 7Y€ Spwme  x-vanes

6) Without the use of technology, explain why sin 52° = sin 412°. _ g
U13° oS tre Same  doyminal Side as B since 412-360 = S&K

7) You have probably noticed that when you ride a Ferris Wheel, the distance from the ground varies
sinusoidally with time. When the last seat is filled and the Ferris wheel starts, your seat is at the position
in the figure below. Let ¢ be the number of seconds that have elapsed since the Ferris wheel started. You
find that it takes you four seconds to reach the top, 43 feet above the ground, and that the wheel makes a

revolution every eight seconds. The diameter of the wheel is 40 feet.

a) Write an equation to model this

situation. % ' L\?)
= W :“:- ( i 2. (r ‘Q' _Q_'_‘_T' = ?
gz g0 sin T [ %)+ R
: : Bo=aAW

b) Identify the period of the function -0 b- 7t
and the amplitude. s e
amp—: 9\0 y 3 Fl;w«lJ-Kd.v b_"l‘r_
period = g

c) Predict the height above the
ground when:A?= 6,1t TZ,




g it hi t point to its lowest
ves passes, it moves from 1ts highes :
- gt between the highest and lowest points

}( A buoy bobbing up and down in the wate :
.. point, and back to its highest point every 10 seconds. The distance
n that models the bobbing buoy.

s three feet.
a) Determine the amplitude and period of sinusoidal functio
P = 10 ceconet S
bing buoy, using X = 0 as its highest

Rwp=1.5 feet
j0= 2%

b) Write an equation of a sinusoidal function that models the bob
')

e = 1S C(ﬁ(%)ﬁ) Vo= 2T
o Y= 1S SNE(x41S o Tl

¢) Find the height of the buoy after 15 seconds.

VJ':’\.S

9) A function rule in the form y = a cos(bx) has period 7 and the distance between the highest and lowest

U7 owp -—‘ IA=A)
0—-—

point is 24.
& Pellesnak, = AL

=)

b) Graph the function in Part a. Mark the scale on the y-axis.
s (aX)

12 4\ /’ Y TanLo

-+
. Write the new rule.

ISR

¢) Change one number in the above function rule so the period is 27

9 1 (05 X

d) Sketch the new graph.




% functions.
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N ; ; g
- fdentify the amplitude, period, phase shift and vertical shift of the following trig

10. y=-10 ‘cov.s‘(-{J

6
Amplitude: ‘O
ot Tle= D w
Period: g A

Phase Shift: ! 2

Vertical Shift: O

“. y =5-—25in(§35}

Ampli?u%c:}: a
Period: /73 = 3w

phiase shift:_ O

Vertical Shift: 92 9

t'Z. y =3cos(6x+7r)

y=3 os(Llxt )
Amplitude: 3
Period: _Z_Tr_!é’_ﬂ3

W
Phase Shift: I kZ

lS o y=-4 sin(i—x - -;Ejﬁ ‘5‘- ‘WS\“%(X’E>

Y

Amplitude: ‘2
n
Period: __/ ! 2
c
Phase Shift:
Vertical Shift: __D______

Given the following information about each trig function, write a possible equation for each.

(19

Sine Function

amplitude =7
iod =4 A gt
perio 7 £X- I
phase shift =-=  Uw= %1"
b= &

0= + Sm'a (H%

Vertical Shift: D
ll'. Sine Funcﬂor; T T
amplitude == b 3
: ) (2)= (™
eriod = = = W
P 7 r=V
vertical shift = —4 =b
e A =
Y= z2SnbX -4
6. Cosine Function
amplitude =1
period =27

phase shift = %

vertical shift =3

§= 05 (%= g ) +3

|7+ Cosine Function
amplitude =3
period =7

phase shift = -z«
vertical shift =-15

o= 3 05 A0k —LS




